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General Instructions :
(i) The question paper comprises two sections, A and B. You are to

attempt both the sections.
(i) All questions are compulsory.
(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to
be attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

(viii) Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks

questions based on practical skills. These are to be answered in
brief.

31/1/1 3 [P.T.O.
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HET-3
SECTION-A

1. 39 GHSTAE 207 o 98t 31 9eel o V-5 faRau fSmeh Jehmicae
e —C12 | 1

Write the molecular formula of first two members of homologous

series having functional group —Cl.

2. igFad unfeafat 8 @rsmrsr & S fafe @ am fafae | g fafy
<AfiTeh B T9an 3cifie ¢ 1

Name the method by which spirogyra reproduces under favourable

conditions. Is this method sexual or asexual ?

3. Uliaa e wea g ? 1

What is an ecosystem ?

4. S fora 15 cm wishE gl % 39 SUUT & WA 30 om g W A 7 |
TYUT G o Tfciferesl o =R A& T Ioei@ i | 2

An object is placed at a distance of 30 cm in front of a convex
mirror of focal length 15 cm. Write four characteristics of the

image formed by the mirror.

5. GUINA Yoo 91 § 7 GA:3UART Rl TSR0 Shi qoT H Sga’ i JHT

ST e ? 2
31/1/1 4
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What is sustainable management ? Why is reuse considered better

in comparison to recycle ?

6. I TE I Sfia T o1 Yae STfeh FHIdol i & | 1 7 RIS
31 o T | 2

Management of forest and wild life resources is a very challenging

task. Why ? Give any two reasons.

7. & ShTe ARt X 3R Y % 0] FF FH: C4Hg 3 CsHy, B 13 T
fopareht Teher atfrfsran gy <Y 1firek TuraT & wehedt B 7 1o ST
gfe ST | 30 soor § dehem sififrn B ufsen Y e % foe
T FHteRT off € | 3

Two carbon compounds X and Y have the molecular formula

C4Hg and Cs5H;, respectively. Which one of these i1s most likely

to show addition reaction ? Justify your answer. Also give the
chemical equation to explain the process of addition reaction in this

case.

8. = e o vremafes wefieR ot qu i 3
(1) CH3COOC2H5 +NaOH——
(i) CH;COOH+NaOH—>

(iii) C,HsOH+CH;COOH — 212504

31/1/1 5 [P.T.O.
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Complete the following chemical equations :
(1) CH3COOC2H5 +NaOH——
(i) CH3COOH+NaOH——

(iii) C,HsOH+CH;COOH 012504

9. MY TTad TR ok Hed wardl AR &fest dfera & am foafaw | foreht
Fed T H W ¥ A9 T W dcdl o drfeasn Aaegor #§ wm aiEdd
Trar 27 foreft Aifost dfth # i o) & Srff iR S W v = &
TIES § 1 IREdT ST ® 7 SUURH Q1 JoRT o I ok q& H R
e | 3

Write the names given to the vertical columns and horizontal rows
in the Modern Periodic Table. How does the metallic character of
elements vary on moving down a vertical column ? How does the
size of atomic radius vary on moving left to right in a horizontal
row ? Give reason in support of your answer in the above two

cases.

10. 15 d@ P (W] &A1 20) Foret o1 dcd Q (W] §&A1 17) ¥
SATTsRaT ek IS AT HTAT © | e 3T T Sl o1 SR |fed 3w

EUSLE

Y e Gl § P 3R Q o1 feufa, qen P ofiR Q ot sAfsfsran

g a1 Aifireh o1 31y-g forfae | 3
31/1/1 6
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11.

12.

An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts
with Q.

1 71 8, S - 3
(a) TN Y HIG IFRZT 8 AW H e ST @ 7

(b) FIfHeTT = Uit Tiied ger W iR ST 2 7

(c) TN B 75717 1 STt (THRfSRIT) %e STt 2 7

What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(c) On maturation sporangia of Rhizopus bursts ?

AT S it gl SATITIhAT Sl IGW 1T | Thid H 30 TR F
1 Heed forfan | 3

State the basic requirement for sexual reproduction ? Write the

importance of such reproductions in nature.

31/1/1 7 [P.T.O.
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13.

14.

15.

T | B 9Tl iEd-! 1 3gW hIfSTT ST 3
(a) U7 ¥ATUG (HARTYC) &1 Sa1 ¢ |

(b) HTET ZWeF / U T Y= ALl Bl |

State the changes that take place in the uterus when :

(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

T 1 Th-Teh 3AEN 4d §U IUIRia 3R AT A& o sl
aTfetent o €9 | fawed i | 3

Distinguish between the acquired traits and the inherited traits in

tabular form, giving one example for each.

Toreht SeTetor it "erEar @ e it 6 Fefafiag 4 8y e

SR SiTall o TorehTe o q&f H SHT0T g il 2 - 3

(a) GUSITT AT

(b) HHEY (wHf) M
(c) SiaTeH

Explain with the help of an example each, how the following

provide evidences in favour of evolution :
(a) Homologous organs
(b) Analogous organs

(c) Fossils

31/1/1 8
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16. F1% 4 cm S=1g H fora R 10 cm ®Ikd g & Fada U0
A 15 em @ R R ® | gdor @ foredt ug Rt feraeft gt W wan s R
39 W o o1 Tow wfafers wrea & 7 ufdfors &t Samg oft dftewfera
IS | 3

An object 4 cm in height, is placed at 15 cm 1n front of a concave
mirror of focal length 10 cm. At what distance from the mirror
should a screen be placed to obtain a sharp image of the object.

Calculate the height of the image.

17. wgHTHl YRR o o - geict B o foreeeti oi| o erefico H s
3T o RV IS GE-Y 3c0= T ST © | 39 -39 &l 9 TAfE |
39 YR o Akl i 8 H GIR & ToTT a9k oiF & TRR 1 AW
forfigu | 3o wa st g 3w s same Sifsu | 3

Due to gradual weakening of ciliary muscles and diminishing
flexibility of the eye lens a certain defect of vision arises. Write the
name of this defect. Name the type of lens required by such persons
to improve the vision. Explain the structure and function of such a

lens.

31/1/1 9 [P.T.O.
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18. 31Ul ‘Tt feam’ W feramer i yrd-ehrelia @ § e wa 3
3Gkt weerer’ g W s & fau g mn 2 | 3
(a) TATEROT o SrTE o foTQ TS o <l GeeaT i <hl ST =mfe ?
(b) U@ Fordi a1 3urn <At gt ST fomeh o | stetqden TR ek
3T 79 fisll § STFTEeRal 3cad i 3TR ST GiaXyl o d1g-a1d
TS T o GXeqor § +ft T g |

You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’
(a) Why should ozone layer be protected to save the environment ?

(b) List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

19. TIEA R UHTSIH SHT & AU ok TR T | I I H 3R forfan |
T T wwTg sk st fora fafyr forfa | o e sta < @y s
HIT T2 AT 7 TG o T W fEetsiel 1 TN FH o HRT I
B arelt foreel €1 Twenadt o 3g@ hifsiu | 5

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard water ?
Mention any two problems that arise due to the use of detergents

instead of soaps.

31/1/1 10

Nurturing Success of Every Child https://deekshalearning.com




o Deeksha

20. (a) WG R o 39 3 1 T8 fARIC S phTopet o fwior o qre-wn
T EHM 1 U1 |l AT 2 | 39k N EIfod GIHA T8 3R
1 fofiau |

(b) |G HIET S a3 % I 9 ot A1 forRay stef fs=r gran 2 |

(c) = hifre Tk ATar = IR & fiaw foskfa g gor =1 o form
TR BT 7 | 5

(a) Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.

(b) Name the parts of the human female reproductive system where

fertilisation occurs.

(c) Explain how the developing embryo gets nourishment inside the

mother’s body.

21. e o TN G € Tohd TR T g3 foh 5
(a) <1&T0 TSl ST YT B & 7
(b) 3 A& T I ST Toh-FH § T Tl @ ¢
How do Mendel’s experiments show that
(a) traits may be dominant or recessive ?

(b) 1inheritance of two traits is independent of each other ?

31/1/1 11 [P.T.O.
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22. 3T | &b TR | forar g (u) o T wfdfors g (v) ® foero
91 aredt e & Wit Segor arferst o faveryor Sifste 3t uftee fore

for € frfaRaa sl & sm @R : 5
e ot 0 wfifera 0
g u (cm) v (cm)
1 -90 +18
2 - 60 +20
3 -30 + 30
4 —-20 + 60
5 — 18 +90
6 - 10 + 100

(a) 3T TIE hl BIRE U FT 7 ? 37T I o 98T H R0 ST |

(b) 3 Jequ1 it A TE fafae st e 72 2 | I fepd s T
YR Tehtet ?

(c) @13 off 3fa I TR YU WA 4 % T e TR o
i 3R STraela 1 T 7 91 Hif |

31/1/1 12

Nurturing Success of Every Child https://deekshalearning.com




o Deeksha

Analyse the following observation table showing variation of
image distance (v) with object distance () in case of a convex lens

and answer the questions that follow, without doing any

calculations :
S. No. | Object distance Image distance

u (cm) v (cm)

1 -90 +18

2 - 60 +20

3 —-30 + 30

4 -20 + 60

5 - 18 + 90

6 -10 + 100

(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

31/1/1 13 [P.T.O.
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23. (a) WebTYT foRtur STl Y AT G EH g9 UE & feRton @l gd g,
Rt gUur @ TEd o gvETd ot S J1a R o g g |
31 fortott <l =t SATST TR STade GUOT o YeRtoT § TRIE o 9T,
3 TRt o el o1 3g@ IfNTT | i ST Toreott sht U, 3taad
TUU % ga R BT o o1 fedra forelt forear o6 wfaforar <t fearfa,
TehTST fohtuT 3T WiwreRt J1d i | ShifS |

(b) I TFad SUU 39 G 20 cm U W e foreft fomar a1 =
T ST Sdfors 9a O ST & | 9aT forel | foraet g /g ? 5

(a) To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

(b) A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

24, (a) Torae =ivr it smwE o s Eiee Fifs |

(b) forelt = o B @ TR W sfad vad YT o sraFe} aul
Tered o & # foerh i €1 9 €, s i ?

(c) SRUTY I ST ATHIfhRd foRuT 3T Tiereht g91Ts | 5

31/1/1 14
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25.

(a) Draw aray diagram to explain the term angle of deviation.

(b) Why do the component colours of incident white light split into

a spectrum while passing through a glass prism, explain.

(c) Draw a labelled ray diagram to show the formation of a
rainbow.
HOT-d
SECTION-B

AYF IE IR TWEHAd, A, B, C 3R D 4 HHI: Hifeqd see,
Tifean FANrEe, 93 &1 O @R et forerd 5 faeem W E T @
fope / Tor wafert % wered 1 SuanT TEifes / udnTss o o Tl
TteTuT o foTT AT I 2 7 1

(a) I A
(b) A3MB
(c) B3R C
(d) A3MWD

You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions
respectively. Out of these the material of which test tube / test tubes

would be suitable for the correct test of acetic / ethanoic acid ?

(a) only A

(b) Aand B
(c) BandC
(d AandD

31/1/1 15 [P.T.O.
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26. JARTIE H HIHTRE shi Al @i e/ fefid & & fae @
TR R o1 =t To=m 7o o6 | waisH ed 31feeh 3uged W ? 1

(a) TE H1 dA R Ffcdan TEgiarEs
(b) TWE H I R HicHTd TESHAEE
(c) ARAH 1 a1 R Afeam erEgiane
(d) TEl 1 I AR AfTm e3eiaEs

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most

suitable ?

(a) Mustard oil and calcium hydroxide
(b) Castor oil and calcium hydroxide
(¢) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

27. Tt B 3 91 EHteEt P, Q, R 3R S off 3R yedsh 4 &9 8 mL
A ST W | TeaeaTd 38 W@l PH Na,SOy4, QH K,S04, RH

CaS0y, S ® MgSO, ! FHH WA el | Yedeh WE-el H e
Torerm it T 9 e 3R 38 vefi-veoR foeifed e m3a 5
AT B 9ATH /T § S0 9T B, 98 e o @ - 1

(a) P3RQ
(b) PR R
(c) P,Q3MW S
(d Q,R3M S

31/1/1 16
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28.

A student took four test tubes P, Q, R and S and filled about 8 mL
of distilled water in each. After that he dissolved an equal amount
of Na,SO4 in P, K,SO4 in Q, CaSO4 in R and MgSOy4 in S. On
adding an equal amount of soap solution and shaking each test tube
well, a good amount of lather will be obtained in the test tubes :

(a) PandQ

(b) Pand R

(c) P,QandS

(d Q,RandS

= o SfST o YUT T S&UT RLd qHY TRl BT | i AU STJER 90T o

SSTTavT, SSvegR, s, 37 :had, T, AT |
39 G I e e HEied A I8 fewull &, foh 370 @ At o\ A
& TRl & | 3 A G 9RT B = HIS 1

(a) SIS, SSTTEoT, T

(b) ST, I, FATEL

(c) 5w, 37d:wa=, Tera

(d) IS, SSUEER, W

31/1/1 17 [P.T.O.
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A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts

are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule
(b) Cotyledon, Plumule, Radicle
(c¢) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

29. Fr=faRed # @ THSTa S & TH=4 i AT : 1

(a) e IR faaett & @
(b) TGS HR e[ h T@

(c) T, sreh 7R fesueked} @ 31umTg
(d) Taach 3k =mes & 1g@

Select the set of homologous organs from the following :

(a) Wings of pigeon and a butterfly
(b) Wings of bat and a pigeon
(c) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

31/1/1 18

Nurturing Success of Every Child https://deekshalearning.com




o Deeksha

30. @ BE A, B 3R C 7 foreft gy wam 1 s1aae U il gerdT § ue
T IR foRa | STade qdu il wiskd g i@ w6 fore 3=
e gft ardi -

BE A : TUU Y IS 9k ol g4

BT B : 9 U8 a9 ol g4

B C : I 9 U o 1 gl

Tl BIhE g A9 STt /o BT B /3 - 1
(a) FaA A

(b) Fad B

(c) ASRB

(d) B3R C

Three students A, B and C focussed a distant building on a screen

with the help of a concave mirror. To determine focal length of the

concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :
(a) Only A

(b) Only B

(c) AandB

(d) BandC

31/1/1 19 [P.T.O.
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31. Ife @19 3ua | g et qrey foma, foeeht anepfa fa G R, &

R S S
1
1 us W 39 forer o wfdfersr <t emrepfa 2t : 1
@ 1 e o = @
.. V- -y ..

If you focus the image of a distant object, whose shape is given

below, on a screen using a convex lens,

)

the shape of the image of this object on the screen would be :

+ . . . 9
@ O] ©F (@ f—

31/1/1 20
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32. = feu T e ® e Siferd v R 1

(a) LASR Le

(b) Li,Z A LD
() LA, Lr3R Le
d) LA Zr3 £D

In the following diagram the correctly marked angles are :

(a) LAandZLe
(b) Li,ZAand £ D
(c) LA, Lrand Le

(d LA, Lrand LD

31/1/1 21 [P.T.O.
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33. = feu U M@ § STuas wivn, foid wion, SA9eds i 9 difvaes
Toreeno =t 3Rl 1, 2, 3, 3R 4 g0 T 9 | fohm TehR gwiian R e 7 1

(a 2,4,1,3

(b) 2,1,4,3

(c) 1,2,4,3
d 2,1,3,4

The correct sequencing of angle of incidence, angle of emergence,
angle of refraction and lateral displacement shown in the following

diagram by digits 1, 2, 3 and 4 is :

21
AN
r\
@ 2,4,1,3
(b) 2,1,4,3
(c) 1,2,4,3
(d 2,1,3,4
31/1/1 22
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34, <& 1 forefl TEael O difeTn e FEHe FT UISEt ol 3EH
Uifeeh o1 STerd &, A gt 2 i Jeseree o a1y s g e 2 |
39 719 1 919 faRaT 3Tk 39 wiegur o1 9o i St 36 719 i 98aH
H g A | 2

A gas is liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity
of the gas.

35. 39 il S o TR 1 AW ARGy fSoH Tk Sk IR 9 a
Hafd wITeR1eT 1 fmior 2rar 8 i Seh RIfveht o1 Afeded 9HTE &
ST 2 | 39 Y| =01 ol 3@ iy Sl 38 TehR & S ohl 3TN
BT 2 | 38 S o T8l 31 =T o TG T | 2

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.

36. IS BT 10 cm HIhE G H1 I I Tioht HIHeIT! hl ST i oid
TTHT 60 cm G T TWAT ® 3R ST o Yffers st 96 W Bl
AT 2 | 39 TTEd o Sarell i fR-e g it I Thrar sar ]
3R g AR yfferrs ol ud T wiekfa off a2 | 2
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(a) SATAT o Tfdfsrsl hl BIhidd o o fIY o8 U< ot fohd ST TTehman
B- T Al AR AT AT A G ?

(b) Wfcferst o |TEst § T Yiad g & 7

(c) oIl sl OF & fHehe @ W fdfers it digar § @ fted grar
37

(d) < @ T FeRaHT gl TR SATET i T T 36T THH A5 I 3ol
wfcrfere sTaT 2 7

A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move

the screen to focus the image ?
(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves

towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?

31/1/1 24
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